
AMAT 220: Linear Algebra, Spring 2012 Quiz # 6, February 14

Name: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Determine whether the following sets of vectors in R3 are linearly independent. Justify each answer.

(a)

 1
4
−7

 ,

−2
5
3

 ,

 0
1
−1

 ,

 2
−3
−1



(b)

−6
2
−1

 ,

 3
−1
1
2



(c)

 245
0

−405

 ,

−13
−17
−19



(d)

 0
0
−4



(e)

 5
−3
−1

 ,

00
0

 ,

−7
2
4


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